Global map

BWRDFEMICDOETLTE IR —LR—I SRR LES W,

For details of each location, please refer to our website.

R4 Germany

NITTA INDUSTRIES EUROPE GmbH

3

fiE (L#8) China (Shanghai)
FiE (BB hEEBEFRAA
NITTA (SHANGHAI)MANAGEMENT CO., LTD.

& (I5#) China (Guangzhou)
EEER (RN REBRAE
NITTA MOORE (GUANGZHOU). TUBE.CO., LTD.

12K India /

NITTA CORPORATION INDIA PVT. LTD.

—VIHKIEH
NITTA CORPORATION

A& Taiwan

HE (FM) china(Changzhou)
BEEHBERIE (BMN) BRAR
NITTA MECHATRONICS (CHANGZHOU) CO., LTD.
EEERRHE (BMN) BIRAR FXUA USA

NITTA MOORE TECHNOLOGY (CHANGZHOU) CO., LTD. NITTA CORPORATION OF AMERICA

B# Japan

EBE Korea
BEZ v 2 L7 et
KOREA NITTA MOORE CORP.

LEBERHBRAR
TAIWAN NITTA FILTER CO., LTD.

4 Thailand

NITTA CORPORATION (THAILAND) LIMITED

Y HR—IlL Singapore
NITTA CORPORATION OF SINGAPORE PTE LTD.

)
https://www.nitta.co.jp :E%:hg

310

=2

Zw5 L7 —EEER

Nitta Moore Div.

it T556-0022 KERAR&EX)14-4-26
Head Office: 4-4-26 Sakuragawa, Naniwa-ku, Osaka, 556-0022
RRXE T104-0061 ERFREBPRXEREES-2-1

Tokyo Branch:  8-2-1 Ginza Chuo-ku, Tokyo, 104-0061

BEEXE T450-0003 #EEMHANXZERE1-17-23
Nagoya Branch: 1-17-23 Meieki-minami Nakamura-ku, Nagoya, 450-0003

REESM T812-0011 BEMELXELERFI2-11-26
Fukuoka Sales Office: 2-11-26 Hakata-ekimae, Hakata-ku, Fukuoka, 812-0011

TEL.06-6563-1271
TEL: +81 6-6563-1271

TEL.03-6744-2725
TEL: +81 3-6744-2725

TEL.052-589-1321
TEL: +81 52-589-1321

TEL.092-473-6651
TEL: +81 92-473-6651

FAX.06-6563-1272
FAX: +81 6-6563-1272

FAX.03-6744-2707
FAX: +81 3-6744-2707

FAX.052-566-2005
FAX: +81 52-566-2005

FAX.092-474-2658
FAX: +81 92-474-2658

AF > Mexico
NITTA'MOORE MEXICO S.DE R.L.DE C.V.

\ 75 Yl Brazil

NITTA BRAZIL

ARZICEATHEE  Safety precautions
BHBRER(CHELVEL s,
{ERRICA Y TEUREHEAE ] ZH A <IEE W,

To use the product safely, please read
the instruction manual carefully before use.

XAHZOT DANBIZ2025F3ARENDHDTY,
HEOURD-DFELABTEEET LN BVET,

KAHZAJICRHSN - BIEIMRIHE TS EE A,

KADZOAT NN EMEHEEILLET,

XHEOJREOTHH  NNBETEMRXSH. 77 F v IR,

BMASHA T XSt &) E# (505 I8)

*Contents of this catalog are current as of March 2025.

The contents are subject to change without notice for product improvement.
*The figures indicated in this catalog are not guaranteed.
*All rights reserved.
*Acknowledgment: Kawasaki Heavy Industries, Ltd., Fanuc Corporation,
Nachi-Fujikoshi Corporation, Yaskawa Electric Corporation

2507PDFS

Invention & Innovation

NITTA

B-ATC-05-P
B TEREE
Automatic Tool Changer

NITTAOMEGA

AUTOMATIC TOOL CHANGER

wmahaOd

General catalog

—VIKINEHL

NITTA CORPORATION




“OBRS"EKITEMLICHIEBREZ—
New proposals for automation through “coupling” technologies

BSEIRB TIEA — b X =S a b MO ETETEA LDBVEERESBERINTVED,

NITTAOMEGAS U —XIFZwAMBOA LAY 7B zRA e EERAORY MaITOF — b F VoY —ILF > Iv— (ATC) TT,
BY—IUHEBEREBR R KEETITES - TEL. ORY 1B TEROY—ILEBEEITHEVIATIET.

BLEVWESES 1 > DS e AR - EEMER LICEmMLES

In practical scenes of manufacturing, automation and mechanization have been increasingly promoted in pursuit of ever excellent

tents

productivity. The NITTAOMEGA is a series of automatic tool changers (ATC) for industrial robots equipped with Nitta’s proprietary
cam lock mechanism. The series of products is designed to contribute to increased multi-functionality, versatility, and productivity

NITTAOMEGAHmZ1>+v>7 05

of diverse manufacturing lines by properly connecting and disconnecting power, pneumatic, and hydraulic sources required for -
NITTAOMEGA product lineup

each tool to allow switching of multiple tools on a single robot.

r_ NITTAOMEGA> Y =X
- NITTAOMEGA series
type S10 07
type S-0Y25 08
type $35-S 09
type S50-S 11
type M100-S 12
type M165-K (K]
type M250-CT 15
type L350-CT 16
type L600-CT 17
type L1000-0OM 19
aﬁ%ﬁ:ﬁ Existing products 23
ZDMDE R
Other products
ST a—J)L smodules 10
KEZ 2—J)L kmodules 14
CTEZ2—J)L cTmodules 18
OMEZ a2—)L oMmodules 20
AVR—=TIA X1k 21

Interface unit

EOMERBHE

Other product information

BEEEOEE - E&HIOT 5T 24

Precautions for selection and operation programming

%%%E Product features 25
fEFRF use cases 26
EYN'WJ Example installations 27
mfﬂ&{ﬁ Preparation 28
BEEELSR Related products 29

02




TETFARESAUABATNTVIEERAORY

LD LZEDEENIFLI00%ENLENTVEBTLLOID?
RFEVINADTIELRF—FZA MR —IL T

ALOY I Z AL . 2y a8 A — R Fy IV —ILF o Jv—

NITTAOMEGAS U —X I3 B L THEE BB IC L T MY =L & WS

FLOMBERIRMLET, ALOVIDEA FRR—IL T VI IC LD, p
SBLHRMES VT EEAORY FOEENE100%3 | SHLET, \

Industrial robots have been introduced to a variety of manufacturing lines.
However, do we really get the best out of the robots?

The access key to the potentialities is “tight holding”
The NITTAOMEGA series of automatic tool changer equipped with the cam lock -
mechanism offers the new functionality of “tool exchange” by safe and robust |"
coupling. Tight holding by cam lock draws the best out of industrial robots
employed for diverse manufacturing lines.




05

NITTAOMEGA Lineup Mzessre~

c7T 30

NU«—NUS

=z
3

Robot performance (Nm)

4000

3500

3000

2500

2000

1500

1000

500

type L1000-OM

type L600-CT

type L350-CT

type M250-CT
type M165-K
type M100-S
type S10 type S50-S
—type S35-S
type S-0Y25
25 50 75 100 200 300 400 500 600 700 800 900 1000
ARy hEfREE (kg)  Robot payload (kg)

Model code

o 7579mz5 : MO R 20 - 0 PSO0
T

Example adaptor part number

HABESORMA

Interpretation of model codes

NITTAOMEGA

15~ ENITTAOMEGAREDFEERBRFZNZTNEBEDOR—I 2SRV,

Please refer to each model page for standard NITTAOMEGA part number.

o BEHER P23 BHHPICHRELTRELTEDET,

Existing models remain listed on P. 23 and on our website.

® EVa— LB :

Example module part number

—

QIRWO4-093

AHREE (ke) G147 ATR i) Ry MalL/ Y =)L T #® ft #& ft #&
Payload (kg) Type name Symbol Robot side/Tool side Specification Specification Specification
~10 type S10 sc HRy Ml R ESEvH I7R—M EREES
~24 type S-0Y25 SO Robot side No. of signal pins No. of air ports Configuration symbol
10~35 type S35-S S3 w—)L{l T
25~50 type S50-S FF Tool side
50~100 type M100-S HH
100~165 NITTAOMEGA type M165-K KK
50~250 type M250-CT | MO
250~350 type L350-CT XM
350~600 type L600-CT LO
600~1000 type L1000-OM 2

BRAATCY17 v Ay MalL/Y—ILE EV21-WI17 By ft #
Applicable ATC type Symbol Robot side / Tool side Module type Symbol Specification
NITTAOMEGA type $35-S SM ORI R BEEV2—)L W
NITTAOMEGA type S50-S SM Robot side Spot welding module
. o BRER
NITTAOMEGA type M100-S SM YL . Y RE—Y—FEY 12— X N?jf:fctrﬁ
NITTAOMEGA type M165-K KM Tool side Servo motor module " contacts
NITTAOMEGA type M250-CT. E%‘E*‘)J—}b s
NITTAOMEGA type L350-CT. cT Signal modle
NITTAOMEGA type L600-CT HRKEY 21— (a5 3RA) H
Hydraulic (pneumatic) module .
NITTAOMEGA type L1000-OM oM »"u‘uﬁkx‘l‘\f N
BEET1—IL b No. of fluid ports
Pneumatic module
FDS €Ya—Il F
FDS module
'E—FEVa-Il
Dummy module D
TYIEY2—I U
Hook module

& SEY2—ILIZP.10.KEY 21 —ILIEP.14.CTEY2—)LIEP.18.OMEY 2 —/LIFP.20Z TS B IZE W,
For, more information on S modules, K modules, CT modules, OM modules, please refer to P. 10, P. 14, P. 18, P. 20, respectively.

ft &

Specification

BRES

Configuration symbol

06



NITTAOMEGA

ne S-0Y25

Qﬂﬁg HI‘%T‘]' ff |§| External mating dimensions

e S10 NITTAOMEGA t

ONFZ~FiE R External dimensions

NITTAOMEGA t

EEEU R
15:& 7 —7ILAF(1m)

Signal pin spec
15 signals; with cable (1 m)

BRIESE 15K

/15 electrical signal pin

145
TRk 4

. ESUViHE
2515 —F L (Tm)

Signal pin spec
25 signals; with cable (1 m)

(48.5)
70

IT7HR— b 6&K
6 air ports

ESEUH -
257 FHiEF
Signal pin spec

25 signals; solder terminal

T—IN—E>
Tapered pin

Tapered pin

UE—MY itk

Oy MMEIEX{SFE  Robot side attachment face

(GEAnRE(E) O7R MMEEX I E  Robot side attachment face | I ﬁ E Features
Remote sensor spec o 57 ¢68
(onelesmemmii=ion 1o BTN 46 HRRH RN BHROFET —ADRY M RBHE s o 22O
vy P2 0018 —— - 5 . DRz -| 9
Parallel pin gatoliuntohel GE&OMRY h%:MOTOMAN GP12, GP25) (2025F 385 %) 8-M4 mounting bolt Paallelpn
e o \H\sﬁ_ Designed for hollow arm robots manufactured by Yaskawa Electric Corporation o I
F#EM  Standard ZDAB{ERR  Other specification I 5 (Applicable robot: MOTOMAN GP12, GP25) (as of March 2024) ! gol
o o @ 5 5 . Hh ,E:\ P
@ s 5 B iR EEAORY hP—LARICINE B FHLZ TR fo[EE ¥
I q:% E Features I m L% Applications o © N Wiring and tubing are installed inside the robot arm, eliminating interference P E i
= ¢ = = NLOYIHRICEBREM . MAM DMK BT ik
o/ \EY BRE1t offt &, /NUELD T-IN—EY ) = Cam lock system inherits safety and durability % 3
Small and lightweight Polishing and deburring Tapered pin (@) = 215 s
. 2N e ' Iz
o5 EE /BhK (IP67) Xt it BT (BEINVIL) Cam e I ﬁ i,% Applications Y —JVRIERFAE  Tool side attachment face | b
Dust- and water-proofing (IP67) Drilling (electrical drill) R ,
- - . . s o = W L ZS wt =
AVTFFIRTI—%RE *EF M/ INEBRDIMEIK DNV R Y Y —LRIERFHTE  Tool side atiachment face_| o Zc':anxgﬁ,f%.%ﬂz Zgnﬂi'ljfirlﬁrﬁsgxﬁomég ;;)}c%cls |—|@ | | ,I—l@’ 8$ 8
Maintenance-free Handling of electric/small components during assembly I2 i N
_ . S )¢ o7—4 /ARy NBEBOYT/I\Y DR it
ST IR—MCF oy IHBEREH e (BEINZ1/\—) @ © O @ 0 Exchanagéf ml;r't\;zél héﬁdﬁg? arc/sp?o_t welding =8 ©o0 Parallel pin
Air port self-seal function Tightening (electrical driver) I o O 6 [: $62h6 S01s
o —yy4 o)NUHRD /HHEE /M EERB DY — )LDk
. M‘vl Exchange of tools during deburring/polishing/assembly process
Sealing Parallel pin
EFBIYT/I\V DKM
Material handling exchange
I ﬁ: ﬁ Specification I 1:': ﬁ Specification
AliREE ~10kg Payload to 10 kg AliRkE S ~24kg Payload to 24 kg
FAE—AVE 40.6Nm Allowable moment 40.6 Nm FARE—AVE 147Nm Allowable moment 147 Nm
FANLY 34.3Nm Allowable torque 34.3Nm HFAENLY 147Nm Allowable torque 147 Nm
NETE ¢57mm 0.D. 957 mm EASIA DS 145mm x 70mm Outer size 145 mm x 70 mm
e SIS 40.6mm Thickness when coupled 40.6 mm EAEREE A 44.5mm Thickness when coupled 44.5 mm
FEHE 7IWIZvbhEaE Main body material Aluminum alloy REHE FILEZULEE Main body material Aluminum alloy
IEBIREE +0.010mm Position repeatability +0.010 mm (I BEIREE +0.025mm Position repeatability +0.025 mm
E{EZRKIED 0.39~0.85MPa Operational air pressure 0.39-0.85 MPa EEZRKIED 0.39~0.59MPa Operational air pressure 0.39-0.59 MPa
7Ry MM 0.15k Robot side 0.15kg a7y MM 0.55k Robot side 0.55 k
KEEE g Main body weight KEEE g Main body weight g
W — LAl 0.09kg Tool side 0.09 kg Y — LA 0.35kg Tool side 0.35 kg
JEp— BIRE 2.5A - Current 25A _ EiRE 6.6A 5.1A 2.5A - Current 6.6 A 5.1A 25A
BRESH o Electrical signals* : BRES o Electrical signals
HEL 15K No. of signals 15 signals HE 47K 27K 104K No. of signals 4 signals 2 signals 10 signals
R—h2k M5:6/R—h (Fxvo#:4H) No. of ports M5: 6 ports (with check valve) R— R M5:47R—hk No. of ports M5: 4 ports
BRMTmEE 2.26mmz2/;R—hk Effective sectional area 2.26 mmz2/port BAMERE 4mm?2 Effective sectional area 4 mm2
I7R—hk . Air ports I7R—k . Air ports
CVi& 0.13/i—k Cv value 0.13 /port Cvi& 0.23/iR—k Cv value 0.23 /port
ME 0.855MPa Withstand pressure  0.855 MPa ME 0.59MPa Withstand pressure  0.59 MPa
e ERRE 0~60°C (RIEEEE) _ Ambient temperature  0-60 °C (no freezing) ,.,, ERRE 0~60°C(RiEm=CL) _ Ambient temperature  0-60 °C (no freezing)
R - Environment iR " Environment
ERRE 0~95%RH (f5E&EE=E) Ambient humidity 0-95 %RH (no condensation) fERRE 0~95%RH (fEB&E|= L) Ambient humidity 0-95 %RH (no condensation)

07

XI5 ¥ARFHER & ORYRISUIERTL — NI R—AR—VESRRITES 0, * 15 signals; solder terminal spec &= Please check our website for robot flange conversion plates.

FEMREN NITTAOMEGA type S-0Y25 ARy b « V=75 75

T—7fIE]| *ARYRFY 7Y SOR16-4INY0 [r—7)LfiZ| ¢ARYFHT9 SOR16-4INY1
(GP123Ii5) | o — L7974 SOT16-4JCY0 [(CP25HM)| &y —)L 75 7% SOT16-4JCY0

Standard part number: NITTAOMEGA type S-0Y25 robot-tool adaptor
RN N|TTA0‘M EGA type S10 AKRY k- —1P77 75 +Robot adaptor SOR16-4JNY0 +Robot adaptor SOR16-4JNY1
158 FHiEFHE | eORy 7574 SCR15-6JNO0 &V —IL7 5 7% SCT15-6JC00 (ForGP12) | #Tool adaptor SOT16-4JCY0 (ForGP2s5) | #Tool adaptor SOT16-4JCY0

Standard part number: NITTAOMEGA type S10 robot-tool adaptor
[ 15-pins solder terminal specification | #Robot adaptor SCR15-6JN00  #Tool adaptor SCT15-6JC00

08



NITTAOMEGA t

KEHFEY1—ILEEEUCRETY,

With a module attached

e S35-5

ONFZENES ~F 35| External mating dimensions

TETAWERIVE 4-M6

4-M6 mounting bolt
$6 MB155
- P.C.D.50+0.05

o71

E/ v ALE
Backside parallel pin

E =i
Backside spigot joint

I,‘II% E Features

ML —hREERERE

ORy k774 7%  Robot adaptor |

(P.C.D. 5005 & E#EU Y AT BE

BAFAIE 4-M6

vi=4

No mounting plate required, lighter (Can be directly mounted in 50 P.C.D.)

ofitkm XC30 LLBU.AIMREE.FREFE— AV MLIZRL

4-M6 mounting bolt

Improved payload and allowable load moment/torque compared to the previous XC30

AEEYVYZEER

Equipped with a proximity sensor

ATVIAVICEBR(TVIRIVR)HD

Optional tool stand available (hook stand)

Iﬁﬁ i?_\ Applications

*TLR/BEROEHUKEDY —)LXH

Tool exchange upon removal of press/molded items

7= /ARy NBERDOY T\ DRI

Material handling exchange upon arc/spot welding

/NUELD /HREE /HALAERE KDY —IL DR

Tool exchange in deburring/polishing/assembly

CREVT/I\VDRIM

Material handling exchange

| &£ %%

Tapered pin

19.3

hh
Cam

| W —JLF% 7% Tool adaptor |

49.5(EHER)
(when coupled)

Specification

1

[

o
3 ®2A'|® 3 2

U

U UQ
=4 WAt AILS 4-M6

Parallel pin 4-M6 mounting bolt

AREE 10~35kg Payload 10-35 kg
FAE—AVE 150Nm Allowable moment 150 Nm
FAENLY 150Nm Allowable torque 150 Nm
AR 7Tmmx71mm Outer size 71 mm x 71 mm
EERE A 49.5mm Thickness when coupled 49.5 mm
AAEME ZILEZULEE Main body material Aluminum alloy
(IBBIREE +0.010mm Position repeatability +0.010 mm
FEEKIES 0.45~0.85MPa Operational air pressure 0.45-0.85 MPa
— a7Ry M 0.46kg Vi body e Robot side 0.46 kg
W— LA 0.27kg Tool side 0.27 kg
A S —> 7Ry Ml ISO9409-1-50-4-M6 H Ut Mounting pattern Robot side 1S09409-1-50-4-M6 Counterbore hole
HPODSOHLBHTE | v — JL{al 1S09409-1-50-4-M6 H'5'Usdi “Gan b directy mounted n 50 PC.D. - SEGIEIER 1509409-1-50-4-M6 Counterbore hole
R— R Rc1/8: 6;R—k | M5: 27/R—k No. of ports Rc1/8: 6 ports M5: 2 ports
BRMTERE 6.08mm?2/iRk—k | 2.19mm?/iR—k Effective sectionalarea 608 mm2/port 2.19 mm2/port
I7R—bk Air ports
CviE 0.33//R—h 0.12/iR—hk Cv value 0.33 /port 0.12 /port
it 0.85MPa Withstand pressure 0.85 MPa
Fv Vi Chuck signal
HAES FIFvY Il Output signals Unchuck signal
AR Face signal
ERRE 0~B0°C(HRiEm=ECL) Ambient temperature 0-60 °C (no freezing)
RiE Environment
ERRE 0~95%RH (fEEM|ECL) Ambient humidity 0-95 %RH (no condensation)

& EY2—)LIFP.10ZSRIEE N,

F#ERBN  NITTAOMEGA type $35-S ARy b - Y—IL7 T TH

Oy 7474 S3R00-8PS01
(OVAEY) | &y —)L7 4% 7% S3T00-8PCO0

*ORy 74 7% S3R00-8PS00
(24VaEY) | &y —)L7 4 7% S3T00-8PCO0

@&~ For, more information on modules, please refer to P. 10.

Standard part number: NITTAOMEGA type S35-S robot-tool adaptor

*Robot adaptor S3R00-8PS01 *Robot adaptor S3R00-8PS00
(0Veommon) | #Tool adaptor S3T00-8PCO0 [ 24Veommon | #Too| adaptor S3T00-8PCO0

S% :J“J_}b S modules

(NITTAOMEGA type S35-S. type S50-S. type M100-SH) (For NITTAOMEGA type S35-S, type S50-S, type M100-S)

EYa2—)LEHEI

NITTAOMEGA

Example module installation

ESEYa2—I
207 FHinF
Signal module
20 signal pins and solder terminal

ESEY2—I

201 7—7ILAF (2m)

Signal module

20 signal pins with cable (2 m)

NITTAOMEGA type S35-SEH
Only for NITTAOMEGA type S35-S

YV=ILRAIATCOZ7 vV EYa—ILZE . BERAITYY
RAYVRASSYD VLR L. FERERER

The sensor of the hook stand on the stand detects the ATC tool side
hook module and confirms that the hook module is on the hook stand

Ty IEI 2 T R9VRASSY
Hook module Hook stand ASSY
EV2-IWNIAT Oy ~Mal/Y —ILE EEREH EREBE BHE" Tt & % B
Module type Robot side / Tool side Standard part number Rated voltage Weight*! Specification Material
) DC30VELTF NP==p it B 151 A
Ry b Robot side SMRS20-000 DC30V or less 0.04kg ;i:AEHJ;ﬁO?K&’fi Voltage-proof resin
N Solder terminal spec s
. ’ DC30VELF . ; ; ’ [RESR
N Y —)L{E  Tool side SMTS20-000 DC30V or less 0.04kg 3A: 20 signal pins Voltage-proof resin
Signal module \ g s
07y B Robot side SMRs20-001 | DESOVELT g 4ig | r—TLfd(2m) fi WEEE
or less 3A: 204 Voltage-proof resin
. With cable(2m) spec, = s e
. . DC30VHF o : it EE 16 A
Y—JLAl  Tool side SMTS20-001 | [oonyor fess 0.4kg | 3A:20signal pins Voltage-proof resin
TYIEI 1)L " ) i
Hook module™ Y—JLE]  Tool side SMTUOO0-000 — 0.59kg — Steel
VLYY ED
W SR %2 5
IvIATYFASSY™ | g am Toolstandside | HSAC-UOT-00 - — | RuiE:2:0.2mm —

Hook stand ASSY*

Tool detection sensor: Yes
Detection range: 2+0.2mm

K. BBREBLZTOHBEEB>TEDET,
%2.NITTAOMEGA type S35-S ERHEADET,

*1. The weight is an approximate figure.
*2. This is only for NITTAOMEGA type S35-S.

10



NITTAOMEGA

e M100-S

SN2~ K] External dimensions

NITTAOMEGA t

e S50-5

ONFZ~FiE R External dimensions

NITTAOMEGA t

Iq% E Features

TE /B TIRERR

Contact and detachment sensors as standard equipment

e

Connector

6-M8 mounting bolt

I7HR—h 8K
8 air ports

TETZIF RIS 6-M8

ER(ESEY 20K

20 electrical signal pins

© (108.5)

Backside parallel pin

Oy k774 7%  Robot adaptor |

I ﬁ E Features

oHE /Al IRERR

Contact and detachment sensors as standard equipment

°ISOT SV UM

BRIESES 2074
20 electrical signal pins.

N +0.015 o e
X X 2X¢$8m6 +0.006

p GO P 505 B516020.05
Bl v CfiE =/ v o0 fiE

Backside parallel pin

OMRy k74 7%  Robot adaptor |

°ISOT7 TV IN J
WAL 6-M8 mfFAIE 6-M8 Iy
ISO flange adaptable WS oR IR T JyuEs ISO flange adaptable 6-M8 mounting boft 2150 Faraiel pin
Parallel pin o KEEEHTEREN (0.3MPa~) |
Driven by low operating pressure (from 0.3 MPa)
S, . .
I % 1,% Applications 23 00
- L0,
LR/ BBEOEH VDY —ILDORiE ] I }EH i,% Applications = s
Tool exchange upon removal of press/molded items S| :a_pered o = Eg
oF—4 / Ay NAEROVT/\Y DR £e oJLR/MEROIE UK. /NUIRD /HE /BB DY — L DX 2
Material handling exchange upon arc/spot welding @E Tool exchange in removal of press/molded items and deburring/polishing/assembly | W—JLFP#% 7% Tool adaptor | %g
o/NUERD /TREE / $ESTVE DY — )LD e °7—7 /ARy NBERDOY T\ DRI o F
Tool exchange in deburring/polishing/assembly q E$ Material handling exchange upon arc/spot welding L] ;:Ij

oREVT/\V DI

Material handling exchange

| i #&%

W fFAIVS 6-M8

6-M8 mounting bolt

Specification

f A vi=%
Parallel pin

F—UON—F /BRI VTH DRI

Arc torch/paint/sealing gun exchange

o RIEIYT/I\ VDK

Material handling exchange

| i #&

i e
Parallel pin

BAFHILS 6-M8

6-M8 mounting bolt

Specification

AIRE S 25~50kg Payload 25-50 kg AIRE S 50~100kg Payload 50-100 kg
FARE—AVE 377Nm Allowable moment 377 Nm HRE—AVE 1000Nm Allowable moment 1000 Nm
FANLY 377Nm Allowable torque 377 Nm BNV 1000Nm Allowable torque 1000 Nm
HETE ¢120mm 0.D. 9120 mm NEE ®150mm 0.D. 9150 mm
EiEkRES 60mm Thickness when coupled 60 mm R 66mm Thickness when coupled 66 mm
FHHE ZILZZULEE Main body material Aluminum alloy i E FILEZULAE Main body material Aluminum alloy
ERREE +0.010mm Position repeatability +0.010 mm BEREE +0.010mm Position repeatability +0.010 mm
MEEKIES 0.39~0.85MPa Operational air pressure 0.39-0.85 MPa MEESEA 0.3~0.85MPa Operational air pressure 0.3-0.85 MPa
7Ry M 1.2k Robot side 1.2 kg 7Ry MM 2.2k Robot side 2.2kg
rEEE > Main body weight rEEE g Main body weight
v — LAl 0.7kg Tool side 0.7 kg W— LAl 1.5kg Tool side 1.5kg
o BERE 3A - Current 3A _ BiE 3A Current 3A
BRIES Electrical signals : BRIES Electrical signals :
B 2L Ffcld 204 No. of signals None or 20 signals fis 4 U Fielk 204K No. of signals None or 20 signals
R—R2# Rc1/8: 8ih—MFxwoizl) No. of ports Rc1/8: 8 ports (no valve) R— 2 Rc1/8: 8iR—hk (Fzw¥7xL) No. of ports Rc1/8: 8 ports (no valve)
BHMEE 5.81mm2/;R—hk Effective sectional area  5.81 mm2/port BRrmEE 6.61mm?2/7R—hk Effective sectional area  6.61 mm2/port
IFiR—b . Air ports IFR—bk - Air ports
Cvi& 0.31/iR—k Cv value 0.31 /port Cvi& 0.36/R—h Cv value 0.36 /port
it FE 0.85MPa Withstand pressure  0.85 MPa it FE 0.85MPa Withstand pressure ~ 0.85 MPa
FAy Vi Chuck signal Firy i Chuck signal
HAES TIFvY I Output signals Unchuck signal HAES FUF vyt Output signals Unchuck signal
EAETE R Face signal iR Face signal
- EFRE 0~60°C(RiEmETL) ) Ambient temperature  0-60 °C (no freezing) _ ERRE 0~60°C(RiEEECL) ) Ambient temperature  0-60 °C (no freezing)
RiE - Environment - RiE 8 Environment -
ERRE 0~95%RH (5 EEE L) Ambient humidity 0-95 %RH (no condensation) ERRE 0~95%RH (iEEmEET L) Ambient humidity 095 %RH (no condensation)
a7y M DB-25P-NR Robot side DB-25P-NR a7Ry M DB-25P-NR Robot side DB-25P-NR
xo s par mumber xS par mumber
Y —ILA DB-25S-NR Tool side DB-25S-NR W— LA DB-25S-NR Tool side DB-25S-NR

@& For, more information on modules, please refer to P. 10.

Standard part number: NITTAOMEGA type M100-S robot-tool adaptor

*Robot adaptor HHR20-8PS01 *Robot adaptor HHR20-8PS00
(0Veommon) | #Tool adaptor HHT20-8PC00 [4Veommon | #Too| adaptor HHT20-8PC00

@ EV2—LRP.I0ESRLAL,
FEMRBN  NITTAOMEGA type M100-S ORY b < V—ILF7 5 75

0I:l7|‘\"y ~757% HHR20-8PS01 ol:lrr\‘“/ ~7%7% HHR20-8PS00
(OVIE) [oy — )L 7% 7% HHT20-8PCO0 [(24VIE~) [ey —)L 75 75 HHT20-8PCO0

@™ For, more information on modules, please refer to P. 10.

Standard part number: NITTAOMEGA type S50-S robot-tool adaptor

<+Robot adaptor FFR20-8PS01 <*Robot adaptor FFR20-8PS00
(0vcommon) | #Tool adaptor FFT20-8PC00 | 4Veommen | #Too| adaptor FFT20-8PC00

@ EV2—LIEP.I0ESRLE L,
R#ERBI  NITTAOMEGA type S50-S ARy k <V —ILF7 5 75

*Oiky b 7974 FFR20-8PS01 +Oky k7574 FFR20-8PS00
(OVAEY) ey — )L 74 7% FFT20-8PC00 |(24VAEX) [ey — )L 74 74 FFT20-8PC00

12



13

NITTAOMEGA type M165-K

Qﬂﬁgﬂxﬁ T‘I' ff @ External mating dimensions

axv74 ERIESE> 2074

Connector 20 electrical signal pins

TETZEAFFILE 6-M10
6-M10 mounting bolt
. ()
oo @ \'%
o — o 8 O,
ol |9 & \PK=
& SaNS 2010 m6 1555
25| | N P.C.D.125+0.05
p.oDAZ TN o B L uE
. o g A\ ()] Backside parallel pin
XEEREY1—IEZREUCRETY, (o) _i, o
With a module attached : .
o
60>
196

I ﬁ E Features

| ORy k774 7%  Robot adaptor |

MNTL— N ARETEHE - BE(-SllE(tZzRRE (P.CD. 1250155 BRI AIEE)

No mounting plate is required, leading to a thinner, lighter, and more rigid design(Can be directly mounted in 125 P.C.D.) Iy

CH N LDy VBRI & D A XS TV R A KIER E T

Durability and maintainability are highly improved by new cam lock structure

*T710/R— MEEANRE

Air 10 ports standard built-in

KEV2—ILTHREEILRITE(TO—Tr I BERE( VY —T7—RA 1=y b EHFEREE)

Expandable multifunction with K-modules (Can be shared with floating function interface unit)

WAV 6-M10
6-M10 mounting bolt

W —ILF# 7%  Tool adaptor |

90 (EHERF)
90(when coupled)

Iﬁﬁ i% Applications

XTI\ DRI LR/ BERZOEHUL/\Y RO
Material handling exchange Exchange press/molded product pick-up hand
OFHYFAY DR

Exchange of attachments

I ﬁ: ﬁ Specification

i INE
&

Iy \BAFHRIVE 6-M10
Parallel pin 6-M10 mounting bolt

HRESE 100~165kg Payload 100-165 kg
FERE—AVE 1372Nm Allowable moment 1372 Nm
FAENLY 1372Nm Allowable torque 1372 Nm
FiSiAS 196mmx200mm Outer size 196 mm x 200 mm
EEREA 90mm Thickness when coupled 90 mm
AEME FIWEZILER Main body material Aluminum alloy
NEBRREE +0.025mm Position repeatability +0.025 mm
E{EZRSIES 0.39~0.85MPa Operational air pressure 0.39-0.85 MPa
a7Ry Ml 4.7k Robot side 4.7k
AEEE 9 Main body weight - g
W—JL{ 3.9kg Tool side 3.9kg
_ ERME 3A Current 3A
BRES Electrical signals -
HE U Ffeld 20&K No. of signals None or 20 signals
R—h# Rc3/8:10/R—k (Fzvo7:L) No. of ports Rc3/8: 10 ports (no valve)
) BREmEE 17.07mm?2/mR—k Effective sectional area  17.07 mm2/port
I7R—hk Air ports
CviE 0.93/R—k Cv value 0.93 /port
E 0.85MPa Withstand pressure  0.85 MPa
F¥ Vs Chuck signal
HHiES FIF vy Output signals Unchuck signal
SE AR Face signal
- ERRE 0~60°C(RiFEEL) Ambient temperature  0-60 °C (no freezing)
RIE . Environment - =
ERRE 0~95%RH (fET!E|E L) Ambient humidity 0-95 %RH (no condensation)
N Oy MM MS3102A24-28P Robot side MS3102A24-28P
ARIIER Connector part number
W—IL{l MS3102A24-28S Tool side MS3102A24-28S
IS EY2—I)UIEP.14%2SREE 0, @& For, more information on modules, please refer to P. 14.
E#ERBCNITTAOMEGA type M165-K ORY k V=75 745 Standard part number: NITTAOMEGA type M165-K robot-tool adaptor

oy h74 74 KKR20-10PS00 *0Ry k7% 7% KKR20-10PS01 *Robot adaptor KKR20-10PS00 *Robot adaptor KKR20-10PS01
(OVIEY) | &y —)L74 74 KKT20-10PCO0 [(24VIEX) | &y — )L 74 7% KKT20-10PCO0 (0Veommen) | #Too| adaptor KKT20-10PCO0 |24V commen) | #Too| adaptor  KKT20-10PC00

C,UCFEY L] 0Ky 75 79 KKR20-10PUO0 Y —JL7#¥ 7% KKT20-10PC00 +Robot adaptor KKR20-10PU00 +Tool adaptor KKT20-10PC00

K% yl_}b K modules

(NITTAOMEGA type M165-KH) (For NITTAOMEGA type M165-K)

@

-

EYa2—JLEIH  Example module installation

Y—RE—F—EVa2-)L ESEV1—I BREY2—IL
Servo motor module Signal Module Pneumatic module
EV21—NYAT | DRy M/ Y—ILE EERRR mE S/ oy ' it % Lz
Module type Robot side / Tool side Standard part number Connector part number Weight* Specification Material
{E%5 Signal :
MS3102A20-29P
a7 Al Robot side KMRX21-000S 0.54kg
R 5 E—4—HEIR Motor Power supply : 3A:15%
gy,ﬂ.\f)b SO0 20A: 6% FLIAS
=0 o . 3A: 15 signal pins, Aluminium alloy
Servo motor module I\??ﬁlcg)nzakzo-ng 20A: 6 electrodes
W—JLf]  Tool side KMTX21-000S 0.60kg

E—4—%EiR Motor Power supply :
MS3102A20-17P

_ : DRyl Robotside | KMRS15-000S | MS3102A20-29P 0.35k
EEEY1-I R 9 1 3a:15% FLIEE
ignal | A: 15 signal pi Alumini ]
slanal modle Y=Ll Toolsie | KMTS15-000S | MS3102A20-29S 0.40kg | 2N Tosanalpins - Aluminium alloy
X Oyl Robotside | KMRPO4-000S - 0.51k AE:TII=OLEE,

BEEY1—I - 9 | Rel/a:a—k | TqvF oo ER

Pi i dul Rc1/4: 4 port: i : ini
neumatic module L Tool side KMTP04-000S . 0.55kg c ports M{a;irr]]gogéslglumlmum alloy,

XEEF. PRIZTOHEER>THENEY, *The weight is an approximate figure.



NITTAOMEGA t

e M250-CT

ONFZENES ~F 35| External mating dimensions

| ARy k74 7% Robot adaptor |

NITTAOMEGA t

NITTAOMEGA

e L350-CT

ONFZENES ~F 35| External mating dimensions

| ARy 74 7%  Robot adaptor |

mEYE qx74%
Connector %?ﬂg%th/ 207-'-(
BESEELEY 204K 20 electrical signal pins
20 electrical signal pins
6X¢11THRU =~
L 919716 1
M 8 S-p13THRY
© $20.5719
() i M104 L MR
§ Lk - D Bolt hole for M10
2 R S
o H gl o
Ny )
2X¢p8H7:8°*v10 4 o & 28 3P
A 2 ot d] €
YEBE )y — dE -\ BE ackside parallel pin o, o
HEREEY SRR LIRS 10500 11xM6x1.0510 NEEBEY 21—V EEE U RETY,
200005 With a module attached 2x¢10H7 180157 34
4Xp10H7:8°7v34 6X¢13THRU +
| 5 B reatures P.CD.125+0.05 L 19205319 ;1(;“31/ 6220;(5%
S £ =~ |/ 5
%ﬂé{pﬁef pﬁ = l’i\,nIIJ r?mz—n:rl/nlﬁf)ﬁ/\ I ﬁ E Features Backside parallel pin
ML —hARETER -BEL - SAIELZERR A TL— N RECEE- B2 SELESE
— 73 BREt-5
(P.C.D. 125018 & BT 1 T4 i = o
No mounting plate is required, leading to a thinner, lighter, and more rigid design Ry b77% 7% Robot adaptor (PCD 1 600)1% = Egﬁt HE-]' HU) . - : -
(Can be directly mounted in 125 P.C.D.) . . No mountllng plate is requ!red, leading to a thinner, lighter, and more rigid design | Oy k74 74  Robot adaptor |
B ARILNG-M10 ri=4 (Can be directly mounted in 160 P.C.D.)
~ - — N — ¥ T Parallel pin
FALOY T EERBICEDMAM - XY T+ Y AMEDKIER E sm——___ 9235 _ . =
w /7 3 % = . = N = FRIL h6-M10 JykE
Durability and maintainability are highly improved by new cam lock structure .¥ﬁ73 L\ O 7 E'ﬁﬂ *&% I J: D mﬁﬂ‘li AVTF ‘/Z'E ﬁ\j(mm |-"=‘__| J:- E_yﬂ]mjw\ $265 /Par;keTn/
E EE * 7 " ﬁ= @ Durability and maintainability are highly improved by new cam lock structure
CEMERRIBHOLEYYEAEILTEBLEDS Y THIEE R oLl
N B - % = A i (i w 25
Sensor for checking chuck/unchuck and LED lamp for visualization are equipped as standard _ ) ": ‘EH%’& EE aﬁ?% ehnterve E_Hﬁ,'ﬂﬁ—c g % LED % 773\ ?&—fﬁ—a‘}z{lﬁ £50) ©
F—IN—E> < Sensor for checking chuck/unchuck and LED lamp for visualization are equipped as standard >
CTEYa—/LDEREMBBEDLEA A e = ET 7oA ES \_J 3
7 —| <y =) R b T = of
CT modul be added and shared with oth del He CTEYVaA—ILDEHREMHEBEBLEDOEEIN ITHE i haEm b
rocuies can be added and stared wifth ofher moceis %’% CT modules can be added and shared with other models R AL Eig %
) (e o
I FH 5{% Applications | W —IVF%5 7%  Tool adaptor | S|= . Y= ILFTTH Too acapter | ol
= I ﬁa 1% Applications 15)
My NBEAY /TN DR B E /HFRDKIM @) @
Spot welding gun/material handling exchange Exchange of jigs/molds t = | 2Ry NBREHY /IFTI\VDITH B /BN

*TLAfM/ BB/ HERDEH U/ N5

OREIRY —IL DR

U 8]
BAFARILEE-M10 vi=4

Spot welding gun/material handling exchange

Exchange of jigs/molds

B AL F6-M10

Exchange of pick-up hands for pressed/molded/cast products Exchange of special toolings GO CdER FLAR /AR / EELOINE U/ R3S o TRy )|, (DA GUIDCITEEIE eI
Exchange of pick-up hands for pressed/molded/cast products Exchange of special toolings
I 'ﬁ: ﬁ Specification
AiRER 50~250kg Payload 50-250 kg | £ %% Specification
FRE—AVE 1471Nm Allowable moment 1471 Nm AlikE S 250~350kg Payload 250-350 kg
FANLY 1471Nm Allowable torque 1471 Nm HFRE—AVE 2205Nm Allowable moment 2205 Nm
NETIE $235mm 0.D. 9235 mm FAENLY 2205Nm Allowable torque 2205 Nm
LR E A 90mm Thickness when coupled 90 mm HNETE $265mm 0.D. p265mm
RAEME FILEZULAS Main body material Aluminum alloy EERE S 90mm Thickness when coupled 90mm
RIBEREE +0.025mm Position repeatability +0.025 mm KAEME FIVEZULEE Main body material Aluminum alloy
EEEREND 0.39~0.85MPa Operational air pressure 0.39-0.85 MPa ERREE +0.025mm Position repeatability +0.025 mm
O7Ry MM 4.0kg Robot side 4.0kg BEEKIES 0.39~0.85MPa Operational air pressure 0.39-0.85 MPa
AR Y — LA 2.2k Ml body welght Tool sid ki a7y Ml 6.1kg Robot side 6.1kg
Ly . i 22 TN . .
= oS g rEE Main body weight :
_ EE 3A Current 3A W— LA 5.2kg Tool side 5.2 kg
BRES - Electrical signals -~
B U Efeld 20K No. of signals None or 20 signals e B 3A o Current 3A
BRIES Electrical signals ;
FyJin Chuck signal B 7L Ffcld 208 No. of signals None or 20 signals
HOES FIFvY I Output signals Unchuck signal Fy i Chuck signal
EAERE R Face signal HAES TYF vyl Output signals Unchuck signal
- ERRE 0~60°C(RiFEEL) . ' Ambient temperature  0-60 °C (no freezing) AR Face signal
) nvironmen - - - - ; ;
ERRE 0~95%RH(IEBEE= L) Ambient humidity 0-95 %RH (no condensation) - ERRE 0~60°C (RiFEE L) T— Ambient temperature  0-60 °C (no freezing)
R
PR aRy M MS3102A24-28P Robot side MS3102A24-28P ERRE 0~95%RH (fEZEE|EC L) Ambient humidity 0-95 %RH (no condensation)
- 15t Connector partnumb .
T lv—um MS3102A24-285 nnecor AT | ool side MS3102A24-28 Y MS3102A24-28P Robot side MS3102A24-28P
AxRIHER Connector partnumber
S £V 2—)LIEP. 18 BRI IES W, 1@ For, more information on modules, please refer to P. 18. Y — LA MS3102A24-28S Tool side MS3102A24-28S

ANER:ORY AP TETL—hOFOBICMNIEHE T 5EI3 ¢85 FE LTI,

ANote: When making a hole in the center of the Robot Adaptor Plate, the hole should be ¢85 or less.

& EYa2—)LIEP.18ZSRIEE W,
REREN : NITTAOMEGA type L350-CT ARV b «Y—ILF75T 75

Oy k7% 7% XMR20-0PS00 Oy k7% 7% XMR20-0PS01
(OVIEY) | &y — )L 74 749 XMT20-0PC0O1 [ (24VIEX) | &y — )L 75 7% XMT20-0PCO1

@&~ For, more information on modules, please refer to P. 18.

Standard part number: NITTAOMEGA type L350-CT robot-tool adaptor

*Robot adaptor XMR20-0PS00 *Robot adaptor XMR20-0PS01
(0Veommon) | #Tool adaptor XMT20-0PC0O1 [ 4Vcommon) | Tool adaptor XMT20-0PCO1

FEREN: NITTAOMEGA type M250-CT ARy b <V —IL7 5 75

+0Ry h7% 7% MOR20-0PS00 +0ORy k7% 7% MOR20-0PS01
(OVIAEY) | oy — )L 7% 7% MOT20-0PCO1 [(24VIEA | &y — )L 7% 7% MOT20-0PCO1

Standard part number: NITTAOMEGA type M250-CT robot-tool adaptor
*Robot adaptor MOR20-0PS00 *Robot adaptor MOR20-0PS01
(0Veommon) | #Tool adaptor MOT20-0PCO1 [@4Veommon | #Too| adaptor MOT20-0PCO1

16



NITTAOMEGA type L600-CT

ONFZENES ~F 35| External mating dimensions

| ARy k74 7%  Robot adaptor |

A 104
A%ﬂ /\;0 15° Connector
ERESE 204
20 electrical signal pins
8 -
© () @
o —=_N©O (<))
hoe ai N 2
2Xp12H78°'°v34
P.C.D.200+0.05 % h\\_jL \.
B/ UEALE Qi N % (=)
Backside parallel pin
& R~
KEEEFEY1—LEES URETT, 6X¢14THRU Craate
X%,—:‘;:{?/l B UIREETT. L 16207185 \J_@/ & 0.900
With a module attached ISR 3 © o
Bolt hole for M12
I % E Features
M 7L —hFRETHER - B2 -SRlE{LZRIR DRy k74 7% Robot adaptor
(P.C.D. 20005 & E# 1t 1F A HE N
No mounting plate is required, leading to a thinner, lighter, and more rigid design BAFRIVN6-M12 ol
(Can be directly mounted in 200 P.C.D.) 5-M12 mounting bolt "a’a;épié‘7
oHi N LDy EREMHBIC & O M- X7 F Y XD KIBRE £ an
Durability and maintainability are highly improved by new cam lock structure w >
<
CEMERR I BIHDOEY T EFARIETESBLED S Y THIREE R . U u } U o
Sensor for checking chuck/unchuck and LED lamp for visualization are equipped as standard el = E o0 <

Tapered pin

CTEVa2—ILDFBFZEMBEBBEDOHENTIEE

CT modules can be added and shared with other models

| W—ILF7#4 7% Tool adaptor |

o ) NI
<
uu
WMfFFINE-MI12 /) /yyES

96(:E 7 kS)
(when coupled)

I% ;\L% Applications
oMY NBEEAY /ITI\Y DR

Spot welding gun/material handling exchange

BB/ EBORMB

Exchange of jigs/molds

6-M12 mounting bolt Parallel pin
FLAm/ BB R/ BERMODIEU/N\Y R oKy —ILORIR
Exchange of pick-up hands for pressed/molded/cast products Exchange of special toolings
I 1:1: & Specification

ARESE 350~600kg Payload 350-600 kg
FBRE—AVE 4000Nm Allowable moment 4000 Nm
FBENLY 4000Nm Allowable torque 4000 Nm
NETIE $307mm 0.D. 9307 mm
EIERFE A 96mm Thickness when coupled 96 mm
AiEME FIEZILER Main body material Aluminum alloy
NEBEEE +0.025mm Position repeatability +0.025 mm
BEEKIES 0.39~0.85MPa Operational air pressure 0.39-0.85 MPa

a7y Ml 9.8k Robot side 9.8k
~MEEE g Main body weight ¢

W —ILA 7.9kg Tool side 7.9kg

_ ERE 3A Current 3A

BRIES Electrical signals

S 7L Ffeld 204 No. of signals None or 20 signals

Fv¥ Vi Chuck signal
HAES FIFy i Output signals Unchuck signal
SE AR Face signal

_ ERRE 0~60°C(RiEm=CL) Ambient temperature 0-60 °C (no freezing)
RiR - Environment

fERRE 0~95%RH (fET|E|E L) Ambient humidity 0-95 %RH (no condensation)

‘ 7Ry M MS3102A24-28P Robot side MS3102A24-28P

AR HER Connector partnumber

W — LAl MS3102A24-28S Tool side MS3102A24-28S

& EY2—LIEP.18ESRLE W,
F#ERBN : NITTAOMEGA type L600-CT ARy b« V—IL7 5 T5

*ORy k75 7% LOR20-0PS00 +ORy k7% 7% LOR20-0PS01
(OVIAEY) | @y — L7 4 7% LOT20-0PCO1T [ (24VIEX) | &y — )L 74 7% LOT20-0PCO1

17

0= For, more information on modules, please refer to P. 18.

Standard part number: NITTAOMEGA type L600-CT robot-tool adaptor

*Robot adaptor LOR20-0PS00
0V common) | #Tool adaptor LOT20-0PCO1

*Robot adaptor LOR20-0PS01
24V common | #Tool adaptor LOT20-0PCO1

CTEY

(NITTAOMEGA type M250-CT. type L350-CT. type L600-CTH)

1 _} b CT modules

(For NITTAOMEGA type M250-CT, type L350-CT, type L600-CT)

NITTAOMEGA

¥

HMEBEEY2-IL
Spot welding module

Y—HRE—5—FEVa-Il
Servo motor module

EY2—JLEIHI  Example module installation ’%‘ﬁ*{fjl_ﬂ' #‘ﬁiffjl_}b
Hydraulic Module Pneumatic module
EV2—NGAT | DRy Ml Y—ILE | R A mES/ES k- B & ¥ B
Module type Robot side / Tool side | Standard part number Connector part number Weight* Specification Material
s O7Rw ME Robot side | CTRWO04-003 — 1.0kg | Bt 200AER3IA [kt
?%ﬁ:l_}b v — JL @i Toolside | CTTWO4-003 — 1.0kg | Direct coupling type: 3-200 A electrodes Voltage-proof resin
s D7k M Robotside | CTRWO04-001 | MS3101A36-3P 1.0kg | 7—7 )L 130ABEm3% B
v — )L fil] Toolside | CTTWO04-001 | MS3101A36-3S 1.0kg | Direct coupling type: 3-130 A electrodes Voltage-proof resin
{5 Signal
. ) MS3102A20-29P
W I -
7Ry MMEl Robotside | CTRX21-001 £— 45— NMolor Power supply 0.8kg
MS3102A20-17P 3AI15FK 20A:6%FK FILZIE®E
=2 Signal 3A: 15 signal pins, 20A: 6 electrodes Aluminum alloy
' MS3102A20-29S
. W — I -
—RE—4— | f Toolside | CTTX21-001 £— 45— Motor Power supply 0.8kg
EVa-IL MS3102A20-17S
Servo motor {E%2 Signal
module . ) MS3102A20-29P
W I -
O7Ry MMl Robotside | CTRX42-001 E—5—& Motor Power supply 1.5kg
MS3102A20-17P 3A:30AK 20A:12%K it Bt AE
{f§5 Signal 3 A: 30 signal pins, 20 A: 12 electrodes Voltage-proof resin
' MS3102A20-29S
&) i L
Y — )L {8 Toolside | CTTX42-001 £— 45— Molor Power supply 1.5kg
MS3102A20-17S
07K A Robot side | CTRHO4-BOO — 0.9kg | Rc1/2: 47—k FE: ZFVLZ.
Y — )L {8l Toolside | CTTHO4-B0OO - 0.9kg | Rc1/2: 4 ports T4y TF4Y ER
7Ry kAl Robot side | CTRHO6-B00 — 1.5kg | Rcl/2:6/R—k Main body: stainless steel,
@kES 12—l |V — JL @l Toolside | CTTHO6-B0OO — 1.4kg | Rcl/2: 6 ports Fitting: brass
Hydraulic module | [ 7K N 8] Robotside | CTRHO4-NOO — 0.9kg | Rel/2:4/KR—k KK ZFV LA,
Y — )L {8l Toolside | CTTHO4-NOO - 0.8kg | Rc1/2: 4 ports TAYTAVT ATV LA
O7Rw ME Robot side | CTRHO6-NOO — 1.5kg | Rc1/2:67R— Main body: stainless steel,
v — )L il Toolside | CTTHO6-NOO — 1.3kg | Rel/2: 6 ports iR SRS E0E]
A7Rw hEl Robotside | CTRP0O4-000 — 0.6kg | Rcl1/4: 4R—k MMETILIEE.
BEREY2—I)L | Y — )Ll Toolside | CTTPO4-000 - 0.6kg | Rc1/4: 4 ports Ty T AT AFYLR
Pneumatic module | (7R 8] Robotside | CTRPO8-000 - 1.1kg | Rcl/4:87ik— Main body: aluminum alloy,
' — )L il Toolside | CTTPO8-000 — 1.1kg | Rcl/4: 8 ports Fitting: stainless steel
. ' BB U1 X M5, AEd13mm, INDIVYT ATV LR
N + I Robot sid! - — . = 2 .
FDSEY7—)y, | AN M Robotside | CTRFO1-000 O-5KQ | &k 56mm(DEPRAGRA-4703-11%8) | 757 vk - &
FDS module o ' _ Screw size: M5, outer diameter 913mm, Housing: stainless steel,
Y — b fil Toolside | CTTFO1-000 0.4Kg | |ength 26mm (equivalent to DEPRAG A-4703-1) | Bracket: steel

& AAYOVICBHINTVWBCTEY 2 —LUADERICOZEEL TREBLEDLELLE W,

HEBR BELTOHEEB>THENET,

| ZTRLEE

*The weight is an approximate figure.

Fall prevention system

| 74—F>

9‘\ < ‘\7 Teaching jig

&= Please contact us for specifications of modules other than CT modules introduced in this catalog.

2N & Appearance

BRE/RB®

Features/Applications

AN #  Appearance

BR/BZE

Features/Applications

o B fifi73) VLT S TDIRIRLE,
BHEADRSICFEIVIDIEZ.
REHFN-FRDICLBTTD
BEREICKLDET BEZLE
Prevents accidental fall-off or detachment
caused by simple errors in valve mechanism
operations, wrong manual switching of
solenoid valve, or residual air pressure due
to bending or clogging of piping

e IFDY AT LICESIEIES AT AE

Easy attachment to existing systems

AU 3 Part

number

CAR-006-M2

T

o ATCEFERDERERT «—F

Easy and accurate teaching

VUXERYY

Accurate teaching aid jig for ATC coupling
e SA VB LIFRDT 1« —F 7 TEHEIR
Save efforts for teaching upon line startup

o HEIRMECRBERT 1 —F VI DER

B 30 Part number

SEFRHETE  Applicable to

Oy ML Robotside| *Y/—JLAEI Tool side

NITTAOMEGA type M250-CT| AMO-R0024 | AMO-T0033
NITTAOMEGA type L350-CT| AXM-R0O006 | AXM-TO004
NITTAOMEGA type L600-CT| ALO-R0002 ALO-T0002

18



NITTAOMEGA

OMEY 21— .

(NITTAOMEGA IV, XC300. XC400. XC500. type L1000-OMHA)

(For NITTAOMEGA 1V, XC300, XC400, XC500, type L1000-OM)

NITTAOMEGA type L1000-OM

SN2~ K] External dimensions

axv42
Connector (o) [}
S 8
BRIESE> 20K 00 =
20 electrical signal pins S Al
) 224° Yo
e X @
THTRRAFFHEILN 6-M12 N 9,
6-M12 mounting bolt () O ©
XEBH < — *E R BET N N
XBEEEFRMG 7L —hEEEURETT, Oy k774 7%  Robot adaptor | EY 12— LR
With a mounting plate attached IyE>
ALk 12-M12 Parallel pin Example module installation
12-M12 mounting bolt V=%
$350 Parallel pin

Iﬁ E Features ] @ - 2
°E8:25.6kg. EEEY 1 —)L: 3EY 2 —ILEXD fiHiF ATAE sy A] U e

i |g
Weight: 25.6 kg, Functional modules: Can be equipped with 3 modules Tapered pin .- e g % §
R il % ca S|E . X , , P
SRS WAL RA i B2 BBEV2 L Y- RE—F—ET2—IL BAES2—L BREI2—L
y Y | W— L7 T Tool adaptor | Spot welding module Servo motor module Hydraulic module Pneumatic module
o3RI D ik A .
Inherited versatiity i - EV2-ASAT | ORyMI/Y—ILE | EESBR axoyBR | HE * # %
— . ™ Module type Robot side / Tool side | Standard part number | Connector part number | Weight* Specification Material
I FH J7& Applications fzﬁfg»rn:z-mz |'\ Iy BEEY2—)L | ARY M Robotside | OMRWO06-670 | MS3102A36-3P | 1.0kg - it B i Big
- mounting bol il . .
K EITTI\Y DI "j'j':'g“/ Spot welding module | v — J, i Toolside | OMTWO6-680 | MS3102A36-3S | 1.0kg - Voltage-proof resin
Large material handling exchange Parallel pi .
et Oty MA Robotside | OMRX21-026 | 031 92A20298 | 0 gkg
*ZOf. mAERY —ILORiE ::;3//:\:1]55?F |2'OA2:06T6 lectrod
Exchange of other high-load tools . MS3102A20-29S 19 signal pins, : 6 electrodes
e oy m _
gy‘;ﬁfw %5 Y — )L 8l Toolside | OMTX21-026 MS3102A20-17S 0.8kg H—
- Voltage-proof resin
+ & Soecificat e T o . _ MS3102A20-29P
I ‘m:: ST pecitication Oy M Robotside | OMRX42-020 | 221 0505 020 | 1.3kg AA30% 20A125
A = 500~1 kg* Payload 500-1000 kg* R 3 A: 30 signal pins, 20 A: 12 electrodes
. w — JL @l Toolsice | OMTX42-010 | MS3102A20-29S |, 5,
FBE—XUE 5500Nm Allowable moment 5500 Nm MS3102A20-17S
HFBENLY 3500Nm Allowable torque 3500 Nm H7Ry Al Robot side | OMRHO4-000 - 1.0kg | Rc3/8:47K—k K TILSAES
HETE $350mm 0.. 0350 mm ¥ — )L il Toolside | OMTHO4-002 — 0.8kg | Re3/8: 4 ports T4YFAVT  AFYLR
EERFE A 150mm Thickness when coupled 150 mm O7Rw MMl Robot side | OMRHO4-004 - 1.2kg | Re1/2:478— al!?ti_n bodty:_ aIIumintlmlaIon
itting: stainless stee
FEME FILEZULESE Main body material Aluminum alloy ¥ — )b @l Toolside | OMTHO04-006 = 1.2kg | Re1/2: 4 ports ’
fﬁEﬁIﬁﬂ%E +0.025mm Position repeatability +0.025 mm ,!f\ﬁﬂ(:E :/1__”/ |:|7ﬁ‘7 '\flg“ Robot side | OMRHO04-NOO — 1.1 kg Rel 24_1_0_ h 2'5{4(‘2 57_':/ I/Z _.
E{EZERIES 0.39~0.85Mpa Operational air pressure 0.39-0.85 Mpa Hydraulic module c /_ S 24t /T'r/? AT LA
. , ) Rc3/8: 6 ports Main body: stainless steel
e 7Ry M 15.4kg e body weiaht Robot side 15.4 kg Y — )b I Toolside | OMTHO4-NOO - 1.0kg Fitting: stainless steel
= ain body weig
W — LA " P -
/=l 10.2kg Toolside 102k Oy M Robot side | OMRHO4-009 —~ 1.6kg A LER: 7B
¢ ERE 3A Current 3A Rel/2:4R—bk AETE: ATV LR
BERIES Electrical signals ) Rc1/2: 4 ports Upper part of the main body: aluminum allo
e B U Efzld 204 ! No. of signals None or 20 signals Y — )b il Toolside | OMTHO4-00B - 1.4kg ’ Lg\?verzart of the main bod{/: stainless steesll
F vyl Chuck signal O7Rw Mal Robot side | OMRP0O4-000 — 1.0kg | Re1/4: 47—k
HAES TYF vy I Output signals Unchuck signal w — )L {8l Toolside | OMTPO4-000 = 0.8kg | Rel/4: 4 ports PN
B J—— . s FN=
EAERES I Face signal Q7R Ml Robot side | OMRPO7-000 - 0.8kg | Rcl/4: 77—k S FAS T RFILR
— EFRRE 0~60°C(RiEE|EIL) Environment Ambient temperature ~ 0-60 °C (no freezing) Y — )L fil Toolside | OMTPO7-000 — 0.9kg | Re1/4: 7 ports gfti-" bodty:_ allumintlmlalloy
¥ e ) i ) STy - - itting: stainless stee
ERRE 0~95%RH (iEBEET &) Ambient humidity | 0-95 %RH (no condensation) ﬁ:&:at/ic::no;l;e Oy Al Robot side | OMRPO4-001 _ 1.0kg | Rel/2: 4m—h g
s sE ARy M MS3102A24-28P BT Robot side MS3102A24-28P w — )L {8l Toolside | OMTP0O4-003 — 0.8kg | Ret/2: 4 ports
W—JL{Al MS3102A24-28S part number Tool side MS3102A24-28S Oy MEl Robotside | OMRPO4-013 _ _ S TILSEe
& EY21—)LIEP.20ES RIS W, &= For, more information on modules, please refer to P. 20. Rcl ‘1/25.22’S ) Rel/2: 17—}‘ . 7{ VTAVY E HiR
¥700kg ETTEROBRBBEEIEE V. * Please contact us if you use it over 700 kg load. Y — )L ] Toolside | OMTPO7-004 — — | Ret-1/2: 2signal pins, Re1/2: signal pin | Main bIOdy3 aluminum alloy
AN\FE AR EFEAOBERTRN 7L — N BAbETTERREE N, /\ Note: Be sure to use this product in combination with a mounting plates. Fitting: brass
N N . EE2EI 51— ORy MMl Robotside | OMRS35-012 | MS3102A28-21P | 0.5k . e
IE# R R : NITTAOMEGA type L1000-OM Oy k - Y—ILP ¥ 7% Standard part number: NITTAOMEGA type L1000-O0M robot-tool adaptor E5Eva—L | =1 9|5A: 35K MBEE
Signal module W — )L 8l Toolside | OMTS35-022 | MS3102A28-21S | 0.5kg | 9 A: 35 signal pins Voltage-proof resin

*ORy k7475 2R20-0PSX0 *ORy k7475 2R20-0PSX1 *Robot adaptor 2R20-0PSX0 *Robot adaptor 2R20-0PSX1
(OVIEY) | &y —)L 74 74 2T20-0PCX0 (24VIEY) | &y — )74 7% 2T20-0PCX0 (0 Vveommon) | #Tool adaptor  2T20-0PCX0 24V common) | #Too| adaptor  2T20-0PCX0 HERIE. BRLTOMBEEH>THNET,  *The weight is an approximate figure.

20



21

~/

I fI:% E Features

ZOAVI—T A RIZY NI FELTH
HEEEQOEETIREATERS N EEY)
DEZDBRHDEERTORERVAES
ANDI7-ESHieEEB TITSARICA
WsnEd,
A—=MIFVIYV—=IF oI v—DrvT
A—=H—E LT BRBREELIL.HY
FryvIv—OBRREEAIIEILLIDE
WEEMHEEBULTWET,
CNSDBERBRICITIBEOHRFTBEICE
DWW EBEVICERFRAIOBWERET
THEATEDZ LTIV -V T

I % l:lﬁ':lfﬁu Example Products

o (GBI supply side

BE5.MEBAR—NTEEHBRHIEL
V—LEOBWEEICKD EEEEET
®HEY,

HHELTIR EBEV . T7R— M.
BOHEULODEEPT—/\—EY-Tyva
DEFEDE. JO—FsV e OXY
IOEE . FryvFOEESOREROA
BICH U< 0B EZABRLTHENET,
BRI ERERBERGFLIVNINT
BRRCHEELTRDEIN . REKRDOCE
BTG U BB NOR IS HE>THD
EXH

This interface unit is primarily designed for
automotive manufacturing processes, including
automation of air and signal supply to jigs and
trucks, etc. upon process change such as
vehicle model change.

With use of experiences we obtained as a
leading manufacturer of automatic tool
changers, we produce high-reliability products
using gun changer components.

These elemental components are based on
unique design philosophy: the signal pins have
the self-cleaning capability to use under poor
atmospheric conditions and the fluid ports

—JIAARILZYD

NITTAOMEGA

achieved a high level of reliability thanks to a
structure with less pressure losses and a high
sealing property.

Various specifications with different numbers of
signal pins/air ports, combinations of tapered
pin and bush, floating features, with/without
connectors/check valves are offered for
different customer applications.

Our ready-made products have optimal design
and compact and lightweight profiles, but we do
offer custom-made designs upon customer
requests.

_ {E%5 signals |  TJ77R— Air ports AR e w = A
T - w i A 21X
| BB | A% [E(vF)| I Dimensions :
Part number No. |Capacty| No. | Dia(inch) ?:'Lfczzﬂ (LxWxH) Connector Remarks External profile
192
XMRG14-000 | O 0 14 |Rcl/4| & 192x54x77 i AT
Yes No Bush
F—IN—EVE
With tapered pin
_ MS3102 TO—T 1 > HsRER
XMRG18-003 | 14 3 4 | Rcl/4 ‘E 140x55%76 A22-19P Withfloatingfunctionb
EEESEY
Fixed signal pin
IR IEHEOZEER
Changeable connector outlet
XMRG32-LOO | 22 | 3 10 |Rcl/4| & 190x54x77 | JMR2524M 7W{”ﬁ]ihﬁ
Yes
AIEESEY
Movable signal pin
180
F—I\—EVE
MS3102 With tapered pin o ¢ @ 0@
XMRG48-000 | 44 | 3 4 |Rcl/4| #& 180x60x53 &
Sl | PO A24-28Px2 EEESEY e iwg
Fixed signal pin
o TR Receive side
B 2 {E%5 signals |  T77R—b Air ports T . o = M
T i ] Z
A | BB | A% |RUVF) || Dimensions ]
Part number No. |Capacty| No. | Dia (inch) ?:rhfc?i%ﬂ (LxWxH) Connector Remarks External profile
XMTG14-000 | O 0 14 | Rcl/4 | #& 192x54%x69 i3 FT—=IN—EVE
No No With tapered pin
i
I
XMTG18-002 | 14 | 3 | 4 |Rcl/a| #& | 140x55x68 | MS3102A T
No 22-19S AEESEY
Movable signal pin
5 IR FEHEOZEER]
(@) Changeable connector outlet
¥ F—)—E
XMTG32-LO0 | 22 3 10 | Rc1/4 Ves 190x54%x69 | JMR2524F TWithtaperedﬁnﬁ
®) 72y NEHE E5EY
Flat-type movable signal pin
N 180
cavasceln|  val 9%
XMTG48-000 [22x2 3 | 4 |Rcl/a| & | 180x60x53 | 24-285x2f o d [ ®T® ::%| g 2¢
No MS31024 A ES LY o ‘e
24-28S x 2 qty Movable signal pin Eﬁ Eﬁ

3 H5 {0 IS IE A RE 1

Coupling position correction function

#4848 UE  Supply side Side of body

ZHAf  Recive side

LR Supply side

Iﬁ E Features

ERERDOMNEBEREZMERB THIE.FTR&EE £5mm

Unique mechanism to correct for positional misalignment when coupling, tolerance: +5mm

Qﬂﬁgﬂxé{ T‘I' ff @ External mating dimensions

| 240

120

TRIESL 22K

22 electrical signal pins
ax74

Connector

120

|

|

i

i

i
1

i

i

i
©

I

|
BEIESL> 22K
22 electrical signal pins

mESE

Connector

4RI Supply side

WAFAILE 4-M10 =%

4M10mounting bolt\ /" Parallel pin
M |

i =
KEV21—IIckD . BEICHEEILRN T 8E “—hﬁ’"‘\a_hﬁ“”‘—m 8 _
K-modules enable easy function expansion ‘ c{‘ g?
© =,
_ o . —— W S 53
IV -BROBRIEBO=vIY—ILFroyv—Eili &k ‘ it
Reliable Nitta tool changer engineering for air and electric connection and disconnection N © £
Fon—Er L3
Tapered pin ,Z\ E
1 X =}
I FH ;\L'% Applications \ O 2
Tt ]
CREPERICTT /55 / BRERE BitEuk amio S Nk
Supply air, signals, and power to jigs and molds 4-M10 mounting bolt Parallel pin
sz BEML A VRlEICTY /ES /ERZHiE T —
Supply air, signals, and power to other automated line equipment
I {:t ﬁ Specification
. Al (D EER) 240mmx120mmx62(68)mm ; Supply side (when separated) 240 mm x 120 mm x 62 (68) mm
FiSiAS Outer size
e 240mmx120mmx45mm Receive side 240 mm x 120 mm x 45 mm
E R (D RER) B 107mm(113mm) Thickness when coupled (when separated) 107 mm (113 mm)
HfaMl 3.4k Supply side 3.4kg
~MEEE - 2 Main body weight =
SZHaE 3.0kg Receive side 3.0kg
X&#h | £5mm : : X axis | 5 mm
KFRHIES Horizontal correction -
EBIEE Y& | +5mm Pivoting function Yaxis | =5mm
(fHadE) Rx 3° (supply side) Rx 30
AERMIER Angle correction
Ry 2° Ry 2°
E5 3A:22K XATI3Y 44 KM Signal 3A: 22 signals *Option: 44 pins available
A LT =DTEA 2 Interface :
R Rc1/2 : 2 R—k (faEIFzvoHD) Air ports R/c 1/2: 2 ports (with check valve on Supply side)
fERRE 0~ 60C (HRfFmEzL) Ambient temperature 0-60 °C (no freezing)
RiE Environment
ERRE 0~ 95%RH (fEE|EEcL) Ambient humidity 0-95 %RH (no condensation)

& KEY2—IUIEP.14%SBLIIEE N,
/N7 :785~1870N EHEHNDBE (HfIcL D)o

FERBK:

*#t#af XFRG22-2PNO0S *=#afil XFTG22-2PC00S

&= For, more information on K modules, please refer to P. 14.
ANote: 785 to 1870 N coupling force required (depending on specifications).

Standard part number:
*Supply side XFRG22-2PN00OS *Receive side XFTG22-2PC00S

22



Existing products

BiFEm

NITTAOMEGA XC10

#Hpkt4FE  Successor model TAIRESE Payload | BE/R— Listed pages
NITTAOMEGA type S10 ~10kg p.07

fr

NITTAOMEGA XC60

e HEEERE  Successor model AHESE Payload | #B#H~R— Listed pages
NITTAOMEGA type S50-S 25~50kg P.11

v

NITTAOMEGA XC30

R HKHEAE  Successor model AHES Payload | #B#H~— Listed pages
NITTAOMEGA type S35-S 10~35kg P.09

NITTAOMEGA XC120

1 fikisTE Successor model AHRESE Payload | 3BH~R—3 Listed pages
NITTAOMEGA type M100-S 50~100kg P.12
NITTAOMEGA type M165-K 100~165kg P.13

MEHEFEYV1-IEREUCRETT,
With a module attached.

NITTAOMEGA IV

% HkHTE  Successor model TAIRES Payload | BER— Listed pages
NITTAOMEGA type M250-CT | 50~250kg pP.15

NITTAOMEGA XC300

RHK144E  Successor model TARES Payload | $#BE~<—3 Listed pages
NITTAOMEGA type L350-CT | 250~350kg P.16

NITTAOMEGA XC4 NITTAOMEGA XC500

g3 == —, 33 2
J&EJ:O)‘—; BR

BAMKITE  Successor model

B HktETE  Successor model AIHREE Payload | B ~R— Listed pages AHRESE Payload | #BFHR— Listed pages

NITTAOMEGA type L600-CT | 350~600kg P.17 NITTAOMEGA type L600-CT | 350~600kg P.17

23

Precautions for selection

ORY NOEEMRERETH HFBEE—AVM MLIEZBIBVWLSICTEELLESI W,
Products must be selected so that the actual moment/torque force will not exceed the allowable numbers during normal acceleration/deceleration of robot.

*NITTAOMEGA type M250-CTDI5E

In case of NITTAOMEGA type M250-CT: BOMEM

Center of gravity

EJWEE w Payload (W)
=200kg

ﬁrﬂ;ﬂﬁﬁﬁ L Eccentric distance (L)
= Jemz +0t2 =,/0.42 + 0.32 =0.5m

]

BEHE—X>F M  Bending moment (M)

~

N ey
[\

|

|

|
=L X W X Gr¥ =0.5 X 200 X 1.5¥ x 9.8\

/ \

5
£t

=1471NM= FFBE—X*>I Alowable moment

RUDKILY T  Torsional torque (T)
=0t X W X Gr* =0.3 X 200 X 1.5% X 9.8
=882Nm= FFANIJL7Z Alowable torque

¥ GridOmy DEENEERRICRET 2 EEMBERDOIMERETT,
FHUWKEICDWTE ORY NDOMREZEX—H—ICTHERDS X SRELLEZ W,
Gr is the acceleration factor of normal acceleration/deceleration in automatic robot operations.
For specific values of robot performance, please contact the robot manufacturer for further consi

Operation programming

EBETOAVIIVT

Y —=IVF 12y v —EEERD
Center of tool changer coupling face

£m=0.4m

(BRELT 1.5~2.0G TR <2 L\)

deration. (Use 1.5-2.0 G as a standard.)

UTFO&SBEBEENTERLS BERTOVFIVIETRS>TIEEWN,  Followin

0 ﬁﬁﬁéf’ﬁ Preparation
IRTDY =)V ET I RAF v (BER)DLICBEET,
Place all tools on fixture (tool stand).

@ 7> F vy IHESR Unchuck check
ORY NFITIDHLISEELTWDZEZRRLET . (P F vy VikiES)
Check that the robot adaptor's cams are retracted. (Unchuck signal ON)

© FE1THESR Parallelism check
ORY "PYT79%Y =V 7Y 7ISER DS EVOF TR TRALEY,
Make the robot adaptor approach the tool adaptor while visually checking that
they are in parallel with each other.

O 77 EADERFESE Visual check of access
Oy NP F9%Y—IVFY 7ZICESISEF T ARy 7Y TIDBROEY (F—/(—
EV) &Y —IVT7F TIDRBRON (T v 1) ICBALET,
EROKDERERIHESHBONDETORY NFI TH%Y—ILTF I TY RS EE T,
Make the robot adaptor further approach the tool adaptor and insert robot
adaptor's positioning pin (tapered pin) into tool adaptor's positioning hole (bush).
Make the robot adaptor approach the tool adaptor until Face signals of
Connection OK are received.

g programming tasks are quired for proper operations.

O #EHIR—NDIFHANE  Air pressurization of connection port
EMEEAD'CHUCK ) R—MNC TP EMRET INICKDER-IRIENT TUET, (FrvIimiES)
Apply air to Chuck port for chucking piping. Now the coupling operation is
completed. (Chuck signal ON)

@ ﬁ%ﬁgj]VEH#o)}i%EIE Precautions for unchucking operations
AL—RBRBEEESE ARSI ARY MY —IL7 Y TI%T 1V XF v ICBWIRET
B E D 'UNCHUCK ) /R— M T 7 EZMA T EE W,

Ty F vy iHESHONL THBENENTE T LET,

For smooth unchucking, air pressure should be applied to Unchuck port of
the unchucking piping when the tool adaptor is placed on fixture.

Unchuck signal is activated once the unchucking operation is completed.

Z DMt Others
BREE R EBMEZCY (UL ISBEL TWARWREE) Z CHUCK R—MIERE L.
BRNEELEETHERBBIERRBICHELSICLTLREEIVW.RLTERRZY -
FIVIEHIBRSH 3BEDES L. TV AF v DEFER LV HHSDOESZ. ORY D
A5 =0y IERICHERAATTERLEE W,
For the chuck/unchuck piping, the constant pressure line (with the valve not
energized) must always be connected with the “Chuck” port to maintain
coupling situation in the event of power failure. For safe and accurate tool
exchange, incorporate the 3 types (Chuck/Unchuck/Face) of signals and
signals from fixture's presence check sensor into the robot's interlock circuit.

(2] (4] (5]
ORy k7975 —
Robot adaptor Bob
7 o
9 bo Vit 0N n— N — N
) Proximity sensor ON ™ R oH — o 80 =
U _ . 7 7
T—IN—E> O (o)
U & ®_OJ Tapered pin o o o [Y0O
Bl G
CAM O o Oo
(| 1 & 7D° S 7De
Y—T7I TS udg g gy oyor—y/09 [T U
Tool adaptor xe) Oo Locking Parts
o 8 7 D°
[/ A N
Separation Proximity Coupling

24



\ 4
NG
NITTAOMEGA

Features of NITTAOMEGA series Use cases

NITTAOMEGAY)—XDHEmEFR =R

eXxOFRIVYVF-ALOvIARIC &/NBIORw M smallrobots
SRR REREREHEE
Large-bore cylinder and cam lock mechanism for
secure and safe coupling mechanism

B DEFRMERBICID ERE

HAITIRICEITS
BEY—LinERME

Tool jig exchange in

E?ﬁﬁﬁﬁ%ﬁ%t‘/ﬂ\ ﬁéﬂﬂgtzgﬁgsgﬁ@@ﬁﬁﬁ%ﬁﬁ assembly processes
EfEmERE T Wear regulation and robust coupling maintained by

N proprietary wear compensation mechanism
EIBETHR

Consumables can be
replaced by customer

eXBIORY K Large robots

LEDIC&KBIRERTRICELD.

—EHTATCOREERB AL BERY—RA>E
LED to show simple ATC status indications I\> FU ‘/7‘Fﬁ ;llfl\sg:
DR

Exchange of jigs for welding
servo gun and for handling

LEDZ> >
LED lamp

BHEBRIIBERDTIRATEE
Chuck/Unchuck/Face sensors as standard equipment
AEE. aBEEO0T—/\—
fIEROE V=R

High durability and high precision

tapered pins

ENENREYa2 -

ENRLL. & A EE '@.
&=/E

Built-in modules to minimize ' O
the entire 0.D. g :

*THDEREZER/IME

Minimum risk of interference

R3O EM L.
RE205 8l LOFIARE

Over 200,000 units have been deployed in
more than 30 countries across the world




Installing NITTAOMEGA to a robot (example)

NITTAOMEGAZOMRy ~MCEXD f113 5 (1)

SCTEYV2—ILDIBHAfFIFRILS—ESR List of CT module assembly bolts

EVa-IWI1T Module type
ATE L =E o Power/Signal
RE-E5EY1- module

I5H

Item

UMK Screw shape

7Ry M
M5 x 30 SUS (47%)

Robot side
M5 x 30 SUS (4 gty)

V=LA
M5 x 30 SUS (47%)

Tool side
M5 x 30 SUS (4 qgty)

2SI Iy + FTw Y+ Spring washer+ Flat washer

R7IVTTvIv + FTyov

Spring washer+ Flat washer

NLZ Torque 5Nm 5Nm 5Nm 5Nm

P RE— 1L %eor(\jlﬁlgwotor UK Screw shape | M5 x 30 SUS (474) M5 x 30 SUS (4 qty) M5 x 30 SUS (474) M5 x 30 SUS (4 qty)
KNLZ  Torque 5Nm 5Nm 5Nm 5Nm

BK (YR ET 21— Hyddralu|ic(non.spi||) T UMIR Screw shape | M5 x 15 SUS (47) M5 x 15 SUS (4 gty) M5 x 15 SUS (4%) M5 x 15 SUS (4 qty)
mocuie ML Torque 5Nm 5Nm 5Nm 5Nm

PR Pneumatic UMK Screw shape | M5 x 35 SUS (47) M5 x 35 SUS (4 qty) M5 x 35 SUS (47) M5 x 35 SUS (4 qty)

WREY2—I aul

Uil ML Torque 5Nm 5Nm 5Nm 5 Nm

GE) MILNTIERRUEHEDHF (ERE) ZBWMUTERLTILEE W,
Note: Apply screw locking agent (low strength) to each bolt.

e

Insulator

A 51 % Caution

NIV N2 B SIBICEEEITOF TR 3.

FZIRILNTH—RBADDDBESICLTLIEE W,
B:D->Q—->B— DL SICHATHHEDH T,

Tighten bolts in the order of the numbers in steps so that

equal force is applied to each bolt.

E.g. Tightening screws in a criss-cross pattern

starting with ), @), @) and so on.

27

75 7T DMIFIFRILN—EEZR  List of adaptor assembly bolts

K1 HEBMOBN A EIBERICEDEBDES,

ORy MUICERD 1325885507,

A procedure to attach the insulator varies depending on customer conditions.
It may be attached to the robot side in some cases.

2 UTO7Y 79 0EHHIRILN—BRESRILEE W,
Please refer to the following list of adaptor assembly bolts.

IAHEZEIFATCDE F RS
feicORy N7V VE%E £
AECLTHOESIcEbhtE
TITSTRE W,

For the installation work, set the
robot flange surface facing upward
at the height of your breast to
prevent ATC from falling.

NITTAOMEGA

HefE  Model BRIV AR Mounting bolt size | KJLZ{& Torque
type M250-CT R/THI R/Tside | M10x45 (SWHF) M10 x 45 (W/SW) 60Nm
type M350-CT
type L600-CT |R/THI R/Tside | M12x50 (IM/\RHA) M12x 50 (w/disc sp.)
type L1000-OM Rl Rslide M]ZxSO(MIE*{#Fﬁ) M12 x 80 (w/d?sc sp.) 80Nm

THI  Tside |M12x70(MM/\REEAE) M12 x 70 (w/disc sp.)

(F) ML EiFa CiEHIEs (RIEE) ZRHLTIRE W,

Note: Apply screw locking agent (mid strength) to each bolt.

Preparation

NITTAOMEGA

HRf+ % fim

b
(RMEREY) TRIFEENLBRTT,
Packed components Below is the standard configuration for your reference.
A7 3> option

ORy MU EY 2 —I)L+ERILS (R Em)

Robot side module + Mounting bolt (Accessories)

Robot adaptor + Mounting bolt (Sold separately)

Oy 75 757 +BUFRIL S (BIFE&)

Y—AIBEI 21—
AL (HES)

Tool side module
+ Mounting bolt (Accessories)

Y—I7 5 T7+BURILS (RIS

Tool adaptor + Mounting bolt (Sold separately)

)

X ORYNFPYTITL—NY=IWTFITITL—h GEM T T4V T—TIER
BEBRNARIZHALEULVARIIBALNHDET, BROFEMBMALKREZSRILIN,

The robot adaptor plate, tool adaptor plate, insulation materials, fittings, and cables, etc. may need to be prepared
by customer depending on specifications. For details of your configuration, please refer to respective delivery specifications.

‘Bgﬁ Z-E %T:Fﬁ % Ly TC C < :F)a) ltems to be prepared by customer

// D)

44—\
NALYVF NLILYVF 71— RINF RUEHIESD
Hex wrench Torque wrench Plier Spanner wrench Locking agent

—

ATCEUI AR
ATC installation guide

KABMICEIZFHHAERIE
BEHAEESRIIEST N,
EURFAFTICOEHLTE
BHPLD Yy O—R
{fEEW,

For details of this product,
please refer to the instruction manual.

Regarding the instruction manual,
please download it from our website.

Ok=4|0)

https://www.nitta.co.jp

=T —7
Sealing tape

28



Related products

NITTAOMEGA

BEEXm

| #M4EF21—7 (FS-FW-FUK)

Flame-resistant Tubing

REBBHMUETF 1 —TESAVFYIULTVET,

A variety of flame-resistant tubing are available in our lineup.

SFSIFHMRMEBIEZERUEEF1—T7 T,

FS tubing is a single-layer tubing made of flame-resistant resin.

*FWIRAIS B Ic R ERIEZERUEBEF1—T7 T,

SFUKIZNBICHMR BB ZERUVRREEF1—7TY,
(ROETE)

FUK tubing is a flexible multi-layer tubing with an outer layer of flame-resistant resin.
(No peeling required)

o SAVF YT NEP4~16(mm)
Lineup: 0.D. 94-16 (mm)

| 9Ly>F21—7(U2)

Polyurethane Tubing

CRMMEMEMD/NT Y ADNRL, HIHEICEN.
—REREERAZICRBBELTVWED,
Fle. I—FILRRIYVL Y VEEZFERLTVWSDT,
BRZERET TOXKIPAEICLZER - LD
DIRLBEDET,
Its excellent balance between flexibility and pressure-resistance and good
workability make this tubing optimal for general air piping applications.
Also it is made of ether polyurethane resin for less corrosion and deterioration
caused by water content under high temperature and humidity conditions.

*SAVFY T I A EH3~16(mm)
Lineup: 0O.D. 3-16 (mm)

AEP3/16~1/2(inch)

0.D. 83/16-1/2 (inch)

| K"t AR RFa2—F (N2B-U2B)

Biomass tubing

EMERERETE UL MBI TEELLF 21 —T TF,

Tubing is produced mainly from plant-derived raw material.

*N2BIFEHAAFIOYFa—T(N2)ERAZEDOHEZEFLET,

N2B tubing have the same performance as our general-purpose nylon tubing (N2).

*U2BIREEHAAYLY Y Fa—T(U2)EAEDHRERZERTLET,

U2B tubing have the same performance as our general-purpose nylon tubing (U2).

o SAVF YT AEP4~16(mm) ¥N2B
Lineup: 0.D. 94-16 (mm) *N2B

AEP4~8(mm) *U2B
0.D. 24-8 (mm) *U2B

FW tubing is a multi-layered tubing with flame-resistant resin in its inner and outer layers.

APEWNAL

PushOne™ fittings

*Fa1—TJDERIIBER - TERFTETIVI Y FERTY,

No jigs/tools are required for tubing connection (one-touch connection)

By TILAYFUNEBERLTWETD,

Electroless nickel plating is applied

o MMM AR (UL94#R 18 V-0 ) &R A

Flame retardant resin (equivalent to UL94 V-0)

*RRUHICY—ILINT

Sealing on R thread sections

—t®

| Ry I Xvyv T

Spatter Cap

CANYFREDNST Yy aT Vv ERH D ERELET,

Protecting PushOne connecting part from spatter, etc.

CEAF1—T VA X AREP4~12(mm)

Applicable tubing size: O.D. g4-12 (mm)

| VIR T4y I A™

SOFTmatics™

MEHDIERFEEBTESHLBEEZERA,
RBRBILIVEMTPEIUKN\YRYYTTRZET
FIVT—MRI—0HE2HTICFOIENTEET,
A unique gripping mechanism enables smooth movement.

Flexible urethane material allows for gentle handling without damage
to delicate workpieces.

T ITADETRESPIEHRORLSZY U/ E
ERTENTEET,

Different sizes and shapes of fingers can be selected according to the
work situation.

ERARE (FEKERE) CLVEEERAENRERDET, 20CUATOSERDORIFHTHYOY R—LAR—IJICEHULTWIREEREAZLEEZSR
U. ZOHERTHERALLEIV, hFAY R—AR—VICEHOEVWRRICOVWTIE, BEEFTEBEVWEDELIZE W,

29

The maximum working pressure varies with the working temperature (environmental temperature). For use at other than 20°C, always check “the maximum working pressure
change graph” that is in our catalog and on our website and keep the pressure within the indicated range. If you are looking for the products that are not listed on our website or
in our catalog, please contact Nitta Corporation.

30



